Rubric: MYP UNIT: MANIPULATING EQUATIONS AND INEQUALITIES
                                                                          ALGEBRA 1: Criteria A KNOWLEDGE AND UNDERSTANDING
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7-8 Selects appropriate math in solving challenging problem in all contexts. Applies & solves math problem correctly.


Solves Challenging problems  Variety / Unfamiliar Contexts 





Level 3





Concept 





0     No Standard  


0     Reached


    No Attempt made 





1-2 Applies selected math to       


solves problem correctly & generally solves simple problem in familiar situations   





3-4 Selects appropriate math in solving more complex problem in familiar contexts. Applies math successfully and correctly. 





5-6 Selects appropriate math in solving challenging problem in familiar contexts. Applies and solves math problem correctly.





Calculate the answer: 2(2y2+1)+ y2–(–4y)–6y when y=–8 Answer:   ?  


              Blank                                


              Don’t 


               Know             





Al is 4 times older than Ki,in 6 years, he will be 2 times Ki’s age. Answer:


                  ?  


              Blank                                


              Don’t 


              Know             








(x=5) Simplify, Calculate and Deduce the peri -meter & area:


  2x-1      Answer:


x�x      ? Don’t


    x-2  Know, Blank





Sid spent $124 on 2 events,1st cost $x+ 10 and the 2nd $24 less than 4 X the 1st . Answer:  Blank


                 ?


 Don’t Know.





Solve for x. –3(2x2– 40) 2+800 =608


Answer:   Blank                                  


                     ?


                  Don’t 


                  Know             











Calculate the answer: 2(2y2+ 1) +  y2–(–4y)–6y when y=–8 


Answer: 2(13y+1)= 26y+2


              26(-8)+2 =210


                  210=210


                      210





Al is 4 times older than Ki,in 6 years, he will be 2 times Ki’s age. Answer:


4x+6=2x


-2x      -2x


6 = 2x


x = 3 


Al  is 3 and Ki is 12





   2x-1    Simplify, Calculate         


 x       x  (x=5)and Deduce the


    x-2 perimeter & area: Ans:     


Perimeter:2x-1+x+x+x+x-2=  


                3x = 15


Area= (2x-1)+(x-2)*(x)=


             9+3x5=24





Sid spent $124 on 2 events, 1st cost $x+ 10 and the 2nd $24 less than 4 X the 1st Ans: 


124=2x+10+24-4x


124=-2x+34


-34          -34


94= -2x


47 = x





   2x-1    Simplify, Calculate         


 x       x  (x=5) and Deduce the


    x-2    perimeter & area:  Ans: Perimeter= (9+5+3+5)= 19 


Area=[(2x-1)+(x-2)]/2 x 5 =


                     (9 + 3) x 5= 60  





Sid spent $124 on 2 events,1st cost $x+ 10 and the 2nd $24 less than 4 times the 1st event. Answer:


(x+10) + 4(24-x) = 124


x+10 + 96-4x = 124


-3x+106  = 124


       -106   -106


-3x = 18


-3x/-3 = 18/-3    x= -6 dollars








Al is 4 times older than Ki,in 6 years, he will be 2 times Ki’s age. Ans:


Ki      Al





  x       4x


  x       4x+6


2(x)    4x +6


2x=4x+6


-2x -2x   2x=6  x=3  Ki=3 and Al = 12





Calculate the answer: 2(2y2+ 1) + y2–(–4y)–6y when y=–8. Ans:


4y2+ 2 + y2–(–4y)–6y=


5y2– 10y –2 =


5(–82) –10(–8) –2 = 


5(64) –80 –2 = 


320 – 82=  238 





   2x-1  Simplify, Calculate and Deduce      


 x       x  the perimeter & area: (x=5): 


    x-2    Ans:  Perimeter= s+s+s+s=


(2x+1)+ x+ (x-2) + x = 5x-1


5(5)-1 = 24. Area: (b1+b2)/2 x h = h[(x-2)+(2x-1)]/2 = h[(5-2)+(2(5)-1)]/2 = h(3+9)/2 = 6h. h=A2+B2=C2 = 32+b2=52


9+b2=25.  b2=16.  b=4


h=4 thus 6h=24   and Area = 24








Sid spent $124 on 2 events,1st cost $x+ 10 and the 2nd $24 less than 4 times the 1st event.  Answer: (x+10)+4(x+10)-24= 124              x+10+4x+40-24=124


                            5x+50-24=124


                            5x+26 = 124


                                 -26    -26


                               5x = 98


                               x= $19.60


 





Al is 4 times older than Ki,in 6 years, he will be 2 times Ki’s age. Ans:


      Ki      Al


                                       12 = 2x+  6


        x       4x                  -6            -6


      x+6    4x+6               6=  2x


  2(x+6)    4x +6            6/2 = 2x/2


   2x+12=  4x+6             3= x


   -2x       -2x            Al= 3 and Ki = 24





Calculate the answer: 2(2y2+ 1) + y2–(–4y)–6y when y=–8 Ans:


2(2y2+ 1) + y2–(–4y)–6y =


4y2+ 2 + y2+4y–6y=


5y2 – 2y +  2 = 


5(–82) –2(–8) +2 =


5(64) + 16 + 2 = 338





Solve for x.–3(2x2– 40) 2 + 800 = 608   Answer:


 –6x2 –120+ 800 = 608 


–6x2 +680 = 1408


–6x2  = 


x= 234.6666











Solve for x. –3(2x2– 40) 2 + 800 = 608   Answer:


–6x2 –120+ 800 = 608 


–6x2 +680 =   608


         –680     –680


– 6x2  = –72


  –6         – 6      x = 12








Solve for x. –3(2x2– 40) 2 + 800 = 608   Answer:


–3(2x2–40) 2+800–800=608–800 


–3(2x2 –40) 2/–3=–192/–3          


((2x2 –40) 2 = (64  ( x2=24&16  


2x2 – 40+40 = ( 8+ 40 : (x=( 4 2x2/2=48/2 & 2x2/2=32/2  





   2x-1  Simplify, Calculate& Deduce        


 x       x   the perimeter & area (x=5): 


    x-2 Ans:  Perimeter= s+s+s+s=


(2x+1)+x+(x-2)+x=5x-1=5(5)-1=24u Area: (b1+b2)/2 x h = h[(x-2)+(2x-1)]/2 = h[(5-2)+(2(5)-1)]/2 = h(3+9) /2 = 6h. h=A2+B2=C2= 32+b2=52


9+b2=25.  b2=16.  b=4       3     3    3


6h=24:Area = 24u2           5    4   4    5


     











Sid spent $124 on 2 events,1st cost $x+ 10 and the 2nd $24 less than 4 times the 1stevent.  Answer:


(x+10)+4(x+10)-24= 124       EXEQ     x+10+4x+40-24=124           MI1, DP


5x+50-24=124                       CLT


 5x+26 = 124                       (GS)A/S


      -26    -26                  AI,GR,AIO


5x = 98  x= $19.60      MI1, GR, TIB








Calculate the answer: 2(2y2+ 1)+ y2–(–4y)–6y when y=–8 


2(2y2+1)+y2–(–4y)–6y=   Using


4y2+ 2 + y2+4y–6y=       Substitution


5y2 – 2y +  2 =         4y2+2+y2+4y–6y


5(–82) –2(–8) +2 =  [4(–82)+2+(–82)


5(64) +16 + 2 =      +4 (–8)– 6(–8)] =


320+18=         [4(64)+2+64–32+48]=


   338            [256+66+48–32]= 338 








Al is 4 times older than Ki,in 6 years ,he will be 2 times Ki’s age Ans:


      Ki      Al


                              AI     12 = 2x+  6


        x       4x          GR  -6            -6


      x+6    4x+6     AIO   6=  2x


  2(x+6)    4x +6  MI1   6/2 = 2x/2


   2x+12=  4x+6   TIB     3= x


   -2x       -2x      Ki=3 &Al =24years





 








Solve for x. –3(2x2– 40) 2 + 800 = 608 Answer:–3(2x2–40) 2+800–800=608–800 


–3(2x2 –40) 2/–3=–192/–3          


((2x2 –40) 2=(64:( x2=24&16  


2x2–40+40 =( 8+ 40:(x=(24 2x2/2=48/2&2x2/2=32/2 (x(4








1, 2  and Multi-Step Equation





Evaluate with Ex-pressions and Equation With Variables





Find the solution to Age Problems





Deducing Geometric Problems


With Variables








Solving Verbal to Algebraic Problems








